Pythagoras Theorem
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@ @ For each of the following triangles, calculate the length x, giving your an
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@ @D For each of the following triangles, find the length marked x.
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swers to one decimal place.

These examples are a
mixture. Make sure you
combine the squares of
the sides correctly.
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@D A ladder, 12 metres long, leans against a wall. The ladder

reaches 10 metres up the wall. How far away from the foot of
the wall is the foot of the ladder?
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A model football pitch is 2 metres long and 0.5 metre
wide. How long is the diagonal?
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